12. Find the point(s) on f(z) = 2* + 4 closest to the point (0, 3).
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14. Ted has decided to make a cylindrical flower pot out of two types
of metal. The metal for the sides costs $15 per square foot and
the metal for the base costs $10 per square foot. Ted has $30.
What are the dimensions of the largest flower pot he can build?
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15. A company estimates it will sell ¢ = 1500 — 300p units if each
unit costs p dollars. If it costs them 1 dollar to make each unit,
how many units should they make to maximize profit?

Revenue = Selling price x Units sold
Cost = Cost per unit x Units sold
Profit = Revenue - Cost

= (Selling price - Cost per unit) x Units sold
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16. The sum of the perimeters of a circle and equilateral triangle is
6 feet. What radius of the circle maximizes the total area?
(Hint: The area of a equilateral triangle is A = 35 )

G

@ Waximize AT+ 3a”
@ r,02(Q «—ov wold be =0 Y
@ consvamt: 2nv + Zo=lo

oWt for a: 3o = -2y
6= 2-3T0

Rewvite A: A=mr’s 6(1 ).
@ A 4 lﬂy»f—y(’l) (Z—EW)( 5m)

= 2o - 5 (2-5r)
i ZTTY—g—?'H +2-(q-§ ) s&to

. 27]?’4'7:.@- = __.3—7
(2m+ &5 2@‘ 2 = 2@
2037
¥z -..—:3____-——- l 2 (PBTT ’Zn %@
2 Dexivative Tegt: 2002617 T T w2 | 3 Gm

A= zmr 220250 RJe— Thisis a wivy, not a wax |

Look dlaser at bounds on ¥

W 3
e o =
Q=Y = 7 n

r\| o E | Yn

A | 1qs2| 101l 2.8

: max ak = (and a<0)
@'rvj’/ﬂ Pt |

BRIV A S i




